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QUESTION 1

Which two statements are true about the characteristics of the Default Storage Scale-Out policy? (Choose two.) 

A. Elastic DRS automatically sets to the Default Storage Scale-Out policy, adding hosts only when storage utilization
exceeds a certain threshold. 

B. When the storage threshold of the Default Storage Scale-Out policy has been resolved, Elastic DRS automatically
performs a scale-in operation. 

C. The Default Storage Scale-Out policy storage threshold level is set to meet SLA requirements and can not be
superseded by other Elastic DRS policies. 

D. The Default Storage Scale-Out policy thresholds for CPU or memory usage are set higher than the other Elastic DRS
policies. 

E. The Default Storage Scale-Out policy storage threshold is set 5% higher than the other Elastic DRS storage policies. 

Correct Answer: AC 

 

QUESTION 2

An administrator is looking to establish a hybrid connection between on-premises and VMware Cloud on AWS software-
defined data center (SDDC) environments in order to migrate virtual machines. The on-premises environment is NOT
using NSX today; however, the administrator wants to avoid having to change IP addresses after each migration, and
there are some applications that require the same broadcast domain. Which connection is needed to meet these
requirements? 

A. Policy-based VPN 

B. Layer 2 VPN (L2VPN) 

C. AWS Direct Connect 

D. Route-based VPN 

Correct Answer: D 

 

QUESTION 3

An administrator has deployed VMware Cloud on AWS and requires a single broadcast domain for a set of virtual
machines that reside both in the data center and in the software-defined data center (SDDC) over a DirectConnect
connection. How can the administrator accomplish this without adding additional components in the cloud? 

A. Duplicate the IP space in both locations and manually move the virtual machines. 

B. Deploy a Layer 2 Virtual Private Network (L2VPN). 

C. Use a third-party networking tool to extend the broadcast domain. 

D. Deploy VMware HCX and a Service Mesh with a Network Extension appliance. 
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Correct Answer: B 

 

QUESTION 4

Which statement is true about a VMware Cloud on AWS software-defined data center (SDDC)? 

A. It is a VMware environment integrating VMware vCenter Server, VMware vSAN and, optionally, VMware NSX-T that
runs on an AWS Elastic Compute Cloud (EC2) bare-metal infrastructure and is able to consume native AWS services. 

B. It is a VMware environment integrating VMware vCenter Server, VMware vSAN and VMware NSX-T that runs nested
VMware ESXi on AWS Elastic Compute Cloud (EC2) instances and is able to consume native AWS services. 

C. It is a VMware environment integrating VMware vCenter Server, VMware vSAN and VMware NSX-T that runs
VMware ESXi on an AWS Elastic Compute Cloud (EC2) bare-metal infrastructure and is able to consume native AWS
services. 

D. It is a VMware environment with VMware vCenter Server, VMware vSAN and VMware NSX-T managing native AWS
Elastic Compute Cloud (EC2) instances and able to consume native AWS services. 

Correct Answer: B 

 

QUESTION 5

A new VMware Cloud on AWS customer has previously deployed a VMware Horizon-based VDI solution into their data
centerto support their remote developer workforce. Due to unforeseen growth, the company needs to quickly expand
their remote workforce. The growth will consume any forecast capacity in the VDI solution and, therefore, additional
capacity is now required. The VDI solution service owner would like the solution to support the ability to quickly scale
in/out to provide additional capacity based on demand. Which three steps should the administrator take to scale out the
VDI solution? (Choose three.) 

A. Deploy a new VMware Horizon pod on VMware Cloud on AWS. 

B. Deploy a new VMware Horizon pod on-premises. 

C. Configure network connectivity and firewall rules to allow communications between the two on-premises connection
servers. 

D. Configure network connectivity and firewall rules to allow communications between on-premises and VMware Cloud
on AWS connection servers. 

E. Connect the two VMware Horizon pods together using the security servers. 

F. Connect the two VMware Horizon pods together using a Horizon Cloud Pod Architecture (CPA). 

Correct Answer: BDF 
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